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CHEMISTRY (Theory)
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(vii) WM WEH | IR DIford 3R =T TP B A5d | T W¥F A AaT 8 9F 9N GHY

T J P |

Note: (i) There are in all 30 questions in this question paper. All questions are compulsory.
(ii) Question No. 1 to 8 are very short answer questions and carry 1 mark each.
(ii)) Question No. 9 to 18 are short answer questions and carry 2 marks each.
(iv) Question No. 19 to 27 are also short answer questions and carry 3 marks each.
(v) Question No. 28 to 30 are long answer questions and carry 5 marks each.
(vi) Use Log tables, if necessary. Use of calculator is not allowed.

(vii) Start from the first question and proceed to the last. Do not waste time over a question, if you
cannot solve.

I WIGfids &R, 9gdd 8- 1
Natural rubber is polymer of—

(@) umrgfe s @1 (@) argEdE @ Wi (&) =0T @7

Acrylic acid Isoprene Ethene Benzene
2. ufafdfem 2 _ 1
Penicillin is—
(@) dreEry (@) wiafaaRnre (M) SawRE (@) yhoifas
Analgesic Antiseptic Antipyretic Antibiotic
3. HANMINES B SR B !
The example of monosaccharide is—
(@) @ (@) dTFes (1) W (a1) verd
Glucose Lactose Maltose Starch
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http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeo@ N Mmm//:diy

http://www.ukboardonline.com

4. YwEs o viE ¥ aRRafia fear wmr g 1
Amide is converted into amine by—
(@) erewm afafsa (@) wfdaedm afafbar &
Hoffmann reaction Carbylamine reaction
(m ufes afyfear & (8) erge sfdfirar ¥
Perkin reaction Claisen reaction
5. f ¥ ) o ofei fomw @1 safda @ & - 1

Among the following, which one reduces Fehling solution -

@) QHIRE =T (@) I=airgd (M) oifeafas sra (B) @@ s

Acetic acid Benzoic acid Oxalic acid Formic acid
6. @ B U Yot J uRafda fear o o !
Glucose is converted into ethyl alcohol by—
(@) s=acd A (@) grafiT & (M) wghE W (&) WiecH ¥
Invertase Emulsin Zymase Maltase

7. 39 SNV 8- 1
Milk is an example of—

(@) e BT (@) T & () arafas o= &1 (8) § &
Gel Emulsion True solution " Foam
8. frafafa Wae § fra awg o wadadr ® — 1

" Which type of isomerism is present in the following compléxes —
[Cr(H,0)JCl, , [Cr(H0)CI1]ClL.H0

(@) wEIRIE FHEIa (@) wanfadra wmagaar
Optical isomerism Geometrical isomerism

(M) SowEHdd qHEgad (&) ST AHagadn
Co-ordination isomerism Hydrate isomerism

9, THRFE-RAEEES B SURURY § veliF & qgeiiaor B wHaEd |

Explain the polymerisation of ethene in the presence of organic peroxide.

[ ]

10. frms @1 § ? U@ MUTH® a1 U I s @1 A fafad | 2
What are ligands ? Write the formula of a negative and a neutral ligand.
1. Wd @ (B-Td IeTeR <0 gy wfverw g ufafewefm o1 oaRa @i 2

Define Antacids and Antihistamines giving one example of each.

12, BRY |k wHEd 6 d-wite q i emad T # iR sgwa O ueiia evd
4 5

Explain with reasons that d-block elements form coloured compounds and show paramagnetic properties.
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13. = wmafRe afafhar & oy kel — 2
Write down the mechanism of the following chemical reaction -
o
_ 1 -
Nu: + R—(i:——}(———>®+ X:
&)

14, FEARNAT A TR Folil avaT], ot aeiTgs # Sufer Foe TR @ orden @
fopareha 2, @i ? 2
Why chlorine atom present in chlorobenzene is less reactive as compared to chlorine atom present in
ethy! chloride ?

15. s BifcH g firea ooe ¥ any Y fg o ? 2
How will you differentiate between unit cell and crystal lattice ?

16. faRre wramar g Aier Tredar F1 g SRR 3 ST F @ wawr & 2 2
Define specific conductivity and molar conductivity. What is the relation between these two ?

17.  d3 Rigma @ MR R s @ dga o @ ke | 2
Write electric properties of semiconductors on the basis of Band Theory.

YdT (OR)
waﬁraﬁﬂmmﬁ:ﬁ&ﬁm(bcc)%ammﬁaﬁ?aﬁmzssmﬁl
T @ U 7.2 glem’ 1§ T B 208 ¢ W e wRArop Sufer § ?

The structure of an element is body centred cubic (bec) and its cell edge is 288 pm. The density of the
element is 7.2 g/cm’. How many atoms are present in 208 g of this element ?

18. 200 ml G 7 0.292 g WIFSTH FARTTS g ¥ | facram 3 Rera @t wrererar @ wra siwr Gr)
T B | (NaCl = 58.4 g/mol)  http://www.ukboardonline.com 2
0.292 g of sodium chloride is dissolved in 200 ml of water. Calculate the molality and mole fraction
of the solute in the solution. (NaCl = 58.4 g/mol)

19.  (®) yawgd I EEEES YHAT o F B ¥ ? Sarewer wie adrsd | 2

What are essential and non-essential amino acids ? Write with examples,
(@) faerfs ¢ @ emafe 9@ @ 8 ? s o W T A B & 2 1
What is the chemical name of vitamin C ? Which disease is caused by its deficiency ?
20. (@) ifaer Aftrrss WYewY g e M B9 T W @ ? 2
How primary amines are prepared by Gabriel phthalimide synthesis ?
(@) IFeIETSIfan FeREe ¥ R~ 39 Td o 2 ? l
How fluorobenzene is prepared from benzenediazonium chloride ?
430 (IBA) |31 [ P.T.O.
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21, (&)
(=)
22, (@)
(@)
23. (@)
(@)
24. (@)
(=)
25. (@)
(=)
26. (@)
(@)
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AT I @ IR W arad R # AR, PRERE 9 SRIT @ W

1 fadea @i |

2

On the basis of electronic configuration, discuss the position of Nitrogen, Phosphorus and

Arsenic in the periodic table.

FANH, TN, SEE a7 IS ¥ B9 arftad w@g w1 & ?

Among F, Cl, Br and I, which one is of metallic nature ?

ARTIES ATHT B T |
Explain lanthanoid contraction.
Co* &1 gAFE® Ry fafed

Write down the electronic configuration of Co?*,

Tf_w g arave # v forfad |
Write difference between minerals and ores.

T P AR B B waq A F1 avlw SR

Describe the froth floatation method for the concentration of ores.

feved wig &1 IHAEY |
Explain Tyndall effect.
oo 7 s ¥ favg S|

Differentiate between adsorption and absorption.

Five whrew R |

Write Nemnst equation.

fer=foriRea et @ A 25°C R A aE® 91 (e.m.£) B T BN —

Zn|Zn* (0.01 M) | Ag” (1.0 M) | Ag

25°CWR ES =156V

Calculate the e.m.f. of the following cell at 25°C —
Zn|Zn* (0.01 M) |Ag" (1.0 M) | Ag

E°, =1.56 Vat25°C

cell

e & WRRRY T W w®r A ® 7

What is meant by osmotic pressure of a solution ?

2

TP (IR = 180) B 0.5% e $T 18°C R WRR©T T A TR AR | 2

(feres Rereid S =0.0821 L atm K- mol™)

Calculate the osmotic pressure of 0.5% solution of glucose (molecular weight = 180) at 18°C.

(Solution constant § = 0.0821 L atm K-' mol™)

[4]

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



http://www.ukboardonline.com

27.  frEggraewer Ry grr wafe, fdas @ gdiae teeieia 9§ o9 fave e aman
g ? et adreer wita e | 3
How primary, secondary and tertiary alcohols are distinguished by dehydrogenation method ? Explain
with chemical equations.
3rerar (OR)
(@) i, Yereta & e sl it ey ¥ 7 |
Why phenols are more acidic than alcohols ?
(@) p- TR, iR § T SUTET 3Py § ? 1
Why p-nitro phenol is more acidic than phenol ?
(m) uRenfea RuRe § vesrEte feamr wirem gar & 2 1
How much percentage of alcohol is present in rectified spirit ?
28. (@) wm e s & R aferRe & aRME | 7 igemger ¥ aar e & ? 2
What is the relation between initial concentration of the reactant and half life time for first
-~ order reaction ?
g | (@) fr=fafea siies ¥ waifa ARA 5 affsar A—s B+C wom o ot 2-3
= From the following data show that the reaction A—— B+ C is of first order—
é w7a (e )/ Time (in minute) 0 20 40
< ‘A’ @] |l (M)W / Concentration of A (in M) 0.6 0.4 0.267
%_' AT (OR)
2 (@) =uiEd 5 pum e sififdar @ am Reris, afteret & wmor w® FR 78 o 2 3
é“ Show that the rate constant of the first order reaction does not depend on the concentration of
= the reactants.
(ED' (@) sifdfbar & 91 R WY, AW, T@ T TSRS BT NG IS | 2
'8 Explain the effect of concentration, temperature, pressure and catalyst on reaction rate.
5 29 fyefoRea @ oro AR - 1x5=5
Give the reasons of following —
(@) HOwa & wefd HS |
H,O is liquid whereas H,S is gas.
(&) PCL ST & 9 NCI, &7 |
PCI is known but NCl, is not.
() Cl &7 aNeR Cl IR & gl & |
The size of CI" is larger than that of Cl atom.
(@) orRwE T g § oy e @ SulRefy amawrs )
Presence of an inert gas is essential in the preparation of phosphinc.
() \UGRT v, MRNGND P o7E &) B Fear
Sulphuric acid acts only as an oxidising agent.
HYAT (OR)
430 (IBA) [5] [ P.T.O.
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M Y yRafda s ? sfafrarat @ wdere Sl -
How will you convert ? Give equation of reactions —

(@) g o fola (e R 0 (@) oxw acde 3 PR RS §

Alumina into anhydrous aluminium chloride Ferrous sulphate into ferric chloride
(M) TSI B TG B BRORE A (&) FREH @ qafEE e H
Bone ash into phosphorus lodine into iodic acid

(®) -msfes ara o ATggE #

Nitric acid into nitrogen

30. e sfafrael @ wafe sievor wfta fafa- 1x5=5
Write the following reactions with chemical equations—
(@) wrhw A @) Vere HaeA
Stephen reaction Aldol condensation
(M ey sifafear (1) Tomions Sifere! Jfafar
Cannizzaro reaction Hell-Volhard-Zelinsky reaction
(8) wisa—mued VRieliavvr sifafiar
Friedal-Craft’s Acylation reaction
AT (OR)
@) Fra o B9 aRafia wvi— 3
How will convert the following—
(i) CH,CHO —— HCHO (i) CH,COOH —— C,H,CONH,
(iii) C,H,OH —— C,H,COOH
(@) = @ s gdres) am fafay- 2
Write down the IJUPAC name of the following—
NO,
|
(1) HOOC—CH—CH—C—C}'{:‘ (ii) H_..C—CH—CH:—CHI—C—CHICI
| | | | i
Cl Br CH, CH, O
R kg
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